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Easy FEM [31] (Nodal Coordinates) 5 (Load)
(Boundary conditions) (dat 1

FILEID=FEMESH SCRIPT COMMAND
DATA_FILE_VERSION=
TITLE=

SUBTITLE=

DATE=

DATA DIR=

PROG DIR=

OUTPUT FILE=

SOL=

PROBLEM_ID=

SOLVER_ID=

REMESH HMIN=
REMESH_HMAX=
ERROR_MIN=

ERROR_MAX=
ERROR_CUTOFF=

ERROR INDICATOR VARS ID=



ERROR_INDICATOR_ TYPE_ID=

AUTO_DISPLAY=

BANDWIDTH=
TEMPORAL_DISCRETIZATION=
SHOW_ITERS=
NUMBER_OF STEP=
TIME_STEP=

ITER_NUMS=
SAVE_ITERS=
OUT ITERS=

NODE_NUMS=

ELEMENT_NUMS=
NODAL_LOADS=

ELEMENTAL_LOADS=

SIDAL_LOADS=
MAX_PROPERTY_NUMS=
PROPERTY_NUMS=

END=
BEGIN BULK

NODE  NODE(BW)
1 2

2 1

3 3

4 4

NODE X Y

1 0015 005
2 0015 -0.05
3 00125 -0.05
4 00125 0.5
ELEM | ]

H [NODE=4]

0.0
0.0
0.0
0.0
K
4

PROP
1
1

[TRIANGLE=2]
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NODE

4

1

ELEM
ELEM

2

PROPID

1

END BULK

LD T Qs

1 00 00

1 00 00

LD g Q T H

N1 N2 LD Qs Q52

2 3 1 80000.0  80000.0

1013 0.0 36400000.0

1 (dat

NODE_NUMS

ELEMNUMS
NODALLOADS
SIDALLOADS

NODE

=~ ow N

ELEM

Easy FEM [31]

-0.0125
-0.0125
0.0125
0.0125

Til
0.0
TYPE ~ DENSITY  CONDUCTIVITY SPEC HEAT THICK

0.05

-0.05
-0.05

0.05
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CONDUCTIVITY
THICK

NODE

ELEM
2

L-ID
1
1

N1
2

N2
3

1

L-ID

Qs Qs2
80000. 80000.
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NODAL VOLTAGE SOLUTIONS

NODE VOLTAGE

1 .000000E+00
2 219780E-03
3 219780E-03
4 .000000E+00

NPOIN ~ NELEM  NVAR

4 2 1
NODAL COORDINATES & SOLUTIONS
1 -0.0125 0.05 .000000E+00
2 -0.0125 -0.05 219780E-03
3 0.0125 -0.05 219780E-03
4 0.0125 0.05 1 000000E+00
ELEMENT NODAL CONNECTIONS
1 1 3 4

2 1 2 3
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(1) (Steady state) 2

(2) (Isotropic materials)
(3) 3

(4)

(%) 1

program compute potential voltage for MT specimen

analysis program for two-dimensional steady-state current
flux without internal current flux generation

MXPOI = maximum number of nodes in the model
MXELE = maximum number of elements in the model
MXHBW = maximum number of half-bandwidth
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PARAMETER (MXPOI1=2416, MXELE=4564, MXHBW=5000)

C
IMPLICIT REAL*8(A-H,0-2)
DIMENSION COORD(MXPOI,2), TEMP(MXPOI)
DIMENSION  SYSK(MXPOI,MXHBW), SYSQ(MXPOQI)
CHARACTER*20 NAMEL, NAME2, NAME3
CHARACTER*50 TEXT
C
INTEGER  INTMAT(MXELE,3), IBC(MXPOI), LTYPE(MXELE)
C
6000 WRITE(6,6010)
6010 FORMAT(/'ENTER THE INPUT FILE NAME:")
READ(5,'(A)', ERR=6000) NAME1
OPEN(UNIT=7, FILE=NAMEL, STATUS="OLD", ERR=6000)
C
C
C read title of computation:
C
Corrn read input data:
C

READ(7,¥)  TEXT IFIELD=FEMESH SCRIPT COMMAND
READ(7*) ~ TEXT IDATA FILE VERSION=1
READ(7,¥)  TEXT ITITLE=

(7¥)  TEXT ISUBTITLE=

(7#*)  TEXT IDATE=

(1)  TEXT TDATADIR

(7¥)  TEXT 1PROGDIR
READ(7,¥)  TEXT IOUTPUTFILE

(7% TEXT 1SOL=

(7.¥)  TEXT 1PROBLEM ID

(7,¥)  TEXT ISOLVERID

(7.¥)  TEXT IREMESHHMIN



6001

6002

6003

6004

READ(/,  TEXT REMESHHMAX

(
READ(7*¥)  TEXT IERRORMIN
READ(7¥) TEXT IERRORMAX
READ(7%) TEXT IERRORCUTOFF
READ(7¥)  TEXT !ERROR_INDICATOR_VARS_ID
READ(7*)  TEXT IERROR_INDICATOR TYPE_ID
READ(7*) TEXT LAUTODISPLAY
READ(7,¥) TEXT 'BANDWIDTH
READ(7¥)  TEXT ITEMPORALDISCRETIZATION
READ(7,¥)  TEXT ISHOWITERS
READ(7*) TEXT INUMBEROFSTEP
READ(7¥)  TEXT ITIME STEP
READ(7,¥) TEXT UTERNUMS
READ(7¥)  TEXT ISAVE ITERS
READ(7¥) TEXT 10UTITERS

READ(7,6001) NPOIN INODE NUMS

FORMAT(10X,8)

IF(NPOIN.GT.MXPOI) WRI'TE(6,6002) NPOIN

FORMAT(/, 'INCREASE THE PARAMETER MXPOI TO  15)
IF(NPOIN.GT.MXPOI) STOP

READ(7,6003) NELEM !ELEMENT NUMS
FORMAT(13X,18)

IF(NELEM.GT MXELE) WRITE(6,6004) NELEM

FORMATS, INCREASE THE PARAMETER MXELE TO\ 15)
IF(NELEM.GT.MXELE) STOP

NL = NUMBER OF POINT LOAD (VOLTAGE LOAD)
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6007

6020

6008

6030

NSL = NUMBER OF ELEMENT LOAD (CURRENT FLUX LOAD)

READ(7,6005) NL INODALLOADS
FORMAT(12X,8)

READ(7,*) TEXT IELEMENTLOADS

READ(7,6007) NSL ISIDALLOADS
FORMAT(12X,18)

READ(7,¥) TEXT IMAX_PROPERTY_NUMS
READ(7,  TEXT IPROPERTYNUMS
READ(7,*)  TEXT !END=CMD

READ(7,*)  TEXT IBEGIN BULK

READ(7,¥) TEXT INODE NODE(BW)

DO 6020 1=1, NPOIN
READ(7*)  TEXT
CONTINUE

READ(7,)  TEXT INODE X Y H

DO 6030 IP=1, NPOIN
READ(7,*) I, COORD(1,l), COORD(l,2)
IF(INE.IP) WRITE(6,6008)

FORMAT(/, 'NODE NO.", 18, 'IN DATA FILE IS MISSING')
IF(INEIP) STOP
CONTINUE

READ(7,¥)  TEXT IELEM | J K PROP
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6009

6040

O OO OO O

6050

6060

(o BN a» BN o B e |

6070
C

DO 6040 IE=L, NELEM

READ(7%) I, INTMAT(U), INTMAT(1,2), INTMAT(1,3)
IF(LNE.IE) WRITE(6,6009)

FORMATE, 'ELEM NO.", 18, 'IN DATA FILE IS MISSING')
IF(LNE.IE) STOP

CONTINUE

IBC(IP)
IBC(IP)

1; SPECIFIED TEMPERATURE AT THIS POINT
0 ;NOT SPECIFIED TEMPERATURE AT THIS POINT

READ(7,*)  TEXT INODE L-ID T QS

DO 6050 [P=1, NPOIN
IBC(P) = 0
TEMP(IP) = 0,
CONTINUE

DO 6060 1=1, NL

READ(7,%) I, LID, TEMP(IP)
IBC(IP) = 1

CONTINUE

READ(7,*)  TEXT !UNUSED LINE
READ(7,*)  TEXT !ELEM NI N2 L-ID QSI QS2

LTYPE(IE)

1 : SPECIFIED HEAT-FLUX AT THIS ELEMENT
LTYPE(IE) = 0

NOT SPECIFIED HEAT-FLUX AT THIS ELEMENT

DO 6070 IE=1, NELEM
LTYPE(IE) = 0
CONTINUE
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DO 6080 1=1, NSL

READ(7%)  IE,NI, N2, LID, QS
LTYPE(IE) = 1
IF(LTYPE(IE).EQ. 1) LT1=1

6080 CONTINUE

C

C

C
C

READ(7,*)  TEXT IPROP TYPE DENSITY CONDUCTIVITY
* ISPECHEAT THICK

READ(7,*)  PROP, TYP, DENSITY, TK, Q, THICK

READ(7,*)  TEXT END BULK

WRITE(6,160)
160 FORMAT(/,' THE F.E. MODEL INCLUDES THE FOLLOWING’,
* 'CURRENT TRANSFER MODE(S):,
* I' - ELECTRIC CONDUCTIVITY )
IF(LTLEQ.I) WRITE(6,170)
170 FORMAT( ' --SPECIFIED SURFACE CURRENT FLUX)

NEQ = NPOIN
DO 300 1=LNEQ
SYSQ(I) = 0.

300 CONTINUE

compute half-bandwidth:
NHBW =0

DO 400 IE=1,NELEM
MIN = 100000
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MAX = 0
DO 410 IN=1,3
Il = INTMAT(IE,IN)
IF(I1.GT.MAX) MAX = II
IF(I1LLT.MIN) MIN = I
410 CONTINUE
NDIF = MAX - MIN + 1
IF(NDIF.GT.NHBW) NHBW = NDIF
400 CONTINUE

IF(NHBW.GT.MXHBW) WRITE(6,420) NHBW
420 FORMAT(/"INCREASE THE PARAMETER MXHBW TO’,15)
IF(NHBW.GT.MXHBW) STOP

DO 430 1=LNEQ
DO 430 J=L,NHBW
SYSK(1,J) = 0.
430 CONTINUE
WRITE(6,435) NPOIN,NELEM
435 FORMATS,*** THE FINITE ELEMENT MODEL CONSISTS OF', 15
* 'NODES AND’, 15,ELEMENTS ***)

establish all element matrics associated with the

specified current transfer modes and assemble them for
system matrices in the form needed for minimum memory
requirement:

WRITE(6,440)
440 FORMATS,' *** ESTABLISHING ELEMENT MATRICS AND'
* 'ASSEMBLING ELEMENT EQUATIONS *+* )
CALL TRKNELEM, INTMAT, COORD,  TK,
* QS, THICK, LTYPE, SYSK, SYSQ,
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* MXPOI, MXELE, MXHBW )

C
WRJITE(6,450)
450 FORMATC/ *** APPLYING BOUNDARY CONDITIONS OF NODAL'
* 'VOLTAGES *+* )
CALL APPLYBC( NHBW, NPOIN, IBC, TEMP, SYSK, SYSQ,
* MXPOI, MXHBW )
C

WRITE(,460)
460 FORMATCI' *** SOLVING A SET OF SIMULTANEOUS EQUATIONS',
* 'FOR VOLTAGE SOLUTIONS *+*
WRITE(6,465) NEQ, NHBW.
465 FORMAT(5X,( TOTAL OF'15,
* 'EQUATIONS WITH HALF-BANDWIDTH OF’, 14,))
CALL SOLVECNEQ, NHBW, SYSK, SYSQ, MXPOI, MXHBW)

C output file for nodal voltage solutions:
C
470 WRITE(6,480)
480 FORMATC/'ENTER FILE NAME FOR VOLTAGE
* 'SOLUTIONS:' )
READ(5,'(A)', ERR=470) NAME?2
OPEN(UNIT=8, FILE=NAMEZ2, STATUS="NEW', ERR=470)
WRITE(8,490) NPOIN
490 FORMATC NODAL VOLTAGE SOLUTIONS [, 15,7,
*|,2X, NODE’, 3X, VOLTAGE", / )
DO 500 IP=1,NPOIN
WRITE(8,510) IP, SYSQ(IP)
510 FORMATCIS6, E14.6)
500 CONTINUE
C

C output file for graphic display and interpolation program
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550 WRITE(6,560)

560 FORMAT(/'ENTER FILE NAME FOR GRAPHIC DISPLAY:)
READ(5,'(A)', ERR=550) NAME3
OPEN(UNIT=9, FILE=NAMES3, STATUS="NEW', ERR=550)
NYAR = 1

600 WRITE(9,610) NPOIN, NELEM, NVAR

610 FORMATC NPOIN, NELEM, NVAR7,318)
WRITE(9,620) NPOIN

620 FORMATCNODAL COORDINATES & SOLUTIONS ['15,] )
DO 630 1=L,NPOIN
WRITE(9,640) I, (COORD(1J), J=1,2), SYSQ(1)

640 FORMAT(I8,3E14.6)

630 CONTINUE
WRITE(9,650) NELEM

650 FORMATCELEMENT NODAL CONNECTIONS [15,]:)
DO 660 IE=1,NELEM
WRITE(9,670) IE, (INTMAT(IE,J), J=1,3)

670 FORMAT(4I8)

660 CONTINUE

STOP
END

SUBROUTINE APPLYBCC NHBW, NPOIN, IBC, TEMP, SYSK, SYSQ,
* MXPOI, MXHBW

apply voltage boundary conditions with condiiton codes
of:

0 = free to change (to be computed)



200
300

400
500

100

%

1= fixed as specified

IMPLICIT REAL*8 (A-H.0-Z)
DIMENSION SYSK(MXPOIL,MXHBW), SYSQ(MXPOI), TEMP(MXPOI)

INTEGER IBC(MXPOI)

DO 100 IEQ=INPOIN
IF(IBC(IEQ).EQ.0) GO TO 100

IF(IEQ.EQ.I) GO TO 300

DO 200 N=1,IEQ-1

IROW = [EQ -N

ICOL=N+1

IF(ICOL.GT.NHBW) GO TO 300

SYSQ(IROW) = SYSQ(IROW) - SYSK(IROW,ICOL)*TEMP(IEQ)
SYSK(IROW,ICOL) = 0.

CONTINUE

CONTINUE

DO 400 1COL=2,NHBW

IL=IEQ + ICOL - 1

IF(IL.GT.NPOIN) GO TO 500

SYSQ(IL) = SYSQ(IL) - SYSK(IEQ,ICOL)*TEMP(IEQ)
SYSK(IEQ,ICOL) = 0.

CONTINUE

CONTINUE

SYSQ(IEQ) = TEMP(IEQ)
SYSK(IEQ,1) = 1

CONTINUE
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RETURN
END

SUBROUTINE ASSEMBLE( IE, INTMAT, AKE, QE, SYSK, SYSQ,

MXPOI, MXELE, MXHBW

assemble element equations into system equations

IMPLICIT REAL*§ (A-H.0-Z)
DIMENSION AKE(3,3), QE(3)
DIMENSION SYSK(MXPOI,MXHBW), SYSQ(MXPOI)

INTEGER INTMAT(MXELE 3)

NNODE =3
NDF =1

DO 100 NR=1,NNODE
NODR = INTMAT(IE,NR)
DO 100 MR=1,NDF

denote: NSR = row position in the system eqs.
NER = row position in the element egs.

NSR = (NODR-I)*NDF + MR
NER = (NR -L)*NDF + MR
SYSQ(NSR) = SYSQ(NSR) + QE(NER)

DO 200 NC=1,NNODE
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NODC = INTMAT(IE,NC)
DO 200 MC=1,NDF

denote: NSC = column position in the system egs.
(after rotation - ready for banded solver)
NEC = column position in the element egs.

NSC = (NODC-I)*NDF + MC - NSR + 1

NEC = (NC -1)*NDF + MC

IF(NSC.GT.0)

SYSK(NSR,NSC) = SYSK(NSR,NSC) + AKE(NER NEC)
CONTINUE

CONTINUE

RETURN
END

SUBROUTINE SOLVE(NROW, NHBW, GSTIF, XL, MXPOIl, MXHBW)

solve a set of simultaneous equations using gauss
elimination. This solver routine can be described

by using an example of a set of four simultaneous
equations (after applying boundary conditions) as

shown below:

[All  AL2A13 0 ][XI] [FI ]
[ 11 [ ]
[A12 A22 A23 A24 ][X2] [F2]

[ 101 [ ]
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9

[A13 A23 A33 A34] [X3] (F3]

[ Jc ] [ ]
[0 A2 A3 Add] [X4] [F4]

where the variable XL is the load vector on RHS of the
eqations. The global stiffness matrix above is stored
in the variable GSTIF in the format shown below:
(here NROW =4 and NHBW =3 )

[All Al2 Al3]

[ 3

[All A23 A24]

[ ]
[A33 A34 0]

[ ]
[Add 0 0]

[GSTIF]

and the output solutions will be restored in the
variable XL.

IMPLICIT REAL*8(A-H,0-2)

DIMENSION GSTIF(MXPOI,MXHBW), XL(MXPOI)

NR = NROW
NC = NHBW

diagonalization the matrix:

DO 10 1=LNR

PIVOT 1=GSTIF(1,1)
IF(ABS(PIVOT1).LT.9.E-10) THEN
WRITE(6,1025) I, PIVOTL
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1025 FORMATC EQ. NO.',15,"HAS NEARLY ZERO PIVOT OF, E14.6,

20

40
30
10

80
10

* % STOP **'

* #¢x CHECK NODE AND ELEMENT NUMBERING IN F.E. MODEL ***)
STOP
ENDIF

XL(=XL(I)PIVOTL
DO 20 J=LNC
GSTIF(1J)=GSTIF(LJ)PIVOTI
MM=0
DO 30 11=1+1NR
MM=MM+1
IF(MM+1.GT.NC) GOTO 30
PIVOT2=GSTIF(IMM+1)*PIVOT 1
XL(I)=XL(I1)-XL(I)*PIVOT?
DO 40 JJ=INC
J0J=03+MM
IF(JJJ.LENC)

& GSTIF(11,13)=GSTIF(11,J3)-GSTIF(1, JJJ)*PIVOT?
CONTINUE
CONTINUE
CONTINUE

back substitution:

DO 70 1=NR-1,1-1

11=1

DO 80 J=I+1NR

=11+

IF(11.LE.NHBW) XL(1)=XL{1)-GSTIF(I,I*XL(J)
CONTINUE

CONTINUE
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[qp]

RETURN
END

*

*

SUBROUTINE TRI(NELEM, INTMAT, COORD,  TK, QS
THICK, LTYPE, SYSK, SYSQ, MXPOI,
MXELE, MXHBW )

establish element matrices according to the specified current
transfers modes and assemble them for system egations

IMPLICIT REAL*8 (A-H,0-2)

DIMENSION COORD(MXPOI,2), SYSK(MXPOIL,MXHBW), SYSQ(MXPOI)
DIMENSION AKC(3,3), QSS(3)

DIMENSION AKE(3,3), QE(3), B(2,3), BT(3,2)

INTEGER INTMAT(MXELE3), LTYPE(MXPOI)

loop over the number of elements:

DO 5000 IE=1,NELEM

find element local coordinates:

Il = INTMAT(IE,1)
3 = INTMAT(IE,2)
KK = INTMAT(IE,3)

XG1 =COORD(II)
XG2 = COORD(JJ,)

100
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XG3 =COORD(KK)
YGL = COORD(lI,2)
YG2 = COORD(JJ,2)
YG3 = COORD(KK 2)
AREA = 0.5%(XG2*(YG3-YG1) + XG1¥(YG2-YG3) + XG3*(YG1-YG2))
IF(AREA.LE.O.) WRITE(6,5) IE
FORMAT(/," !t ERROR!!I ELEMENT NO.', 15,
1HAS NEGATIVE OR ZERO AREA,
' — CHECK F.E. MODEL FOR NODAL COORINATES'
'AND ELEMENT NODAL CONNECTIONS —' )
IF(AREA.LE.O.) STOP

Bl=YG2-YG3
B2=YG3-YGL
B3=YGI1-YG2
Cl =XG3 -XG2
C2 = XGI - XG3
C3=XG2 - XGl

DO 10 1=12
DO 10 J=I3

DO 20 1=12



30
20

50

110

100

120

DO 30 J=13

B(1,J) = B(1,J)/(2.*AREA)
BT(J,1) = B(1,J)
CONTINUE

CONTINUE

zero all coefficients of the final element matrices:

DO 50 1=13
QE(l) = 0.

DO 50 J=1,3
AKE(1,J) =0,
CONTINUE

element conductivity matrix:

DO 100 1=1,3

DO 100 J=1,3

AKC(1,J) =0,

DO 110 K =1,2

AKC(1,J) = AKC(U) + BT(1,K)*B(K,J)
CONTINUE

AKC(1,J) = TK*AREA*THICK*AKC(1,J)
CONTINUE

DO 120 1=1,3

DO 120 J=13

AKE(1,J) = AKE(1,J) + AKC(1,J)
CONTINUE

element current vector due to specified surface current flux:

EL 0.

102



IF(LTYPE(IE).NE.I) GO TO 500

IF(YGEEQ.YG3) EL = ABS(XGL-XG3)
IF(YGLEQ.YG2) EL = ABS(XGL-XG2)
IF(YG2LEQ.YG3) EL = ABS(XG2-XG3)

IF(XGLEQ.XG3) EL = ABS(YGL-YG3)
IF(XGLEQ.XG2) EL = ABS(YGL-YG2)
IF(XGLEQXG3) EL = ABS(YG2-YG3)

FAC = QS*THICK*EL2.
DO 410 1=13
QSS(1) = FAC

410 CONTINUE
IF(YGLEQ.YG3) QSS(2)=0.
IF(YGLEQ.YG2) QSS(3)=0.
IF(YG2EQ.YG3) 0QSS(l) = 0.

C
IF(XGLEQ.XG3) QSS(2)=0.
IF(XGLEQ.XG2) QSS(3)=0.
IF(XG2EQ.XG3) QSS(l) = 0.
C

DO 420 1=13

QE(1) = QE(I) + Q3S(1)
420 CONTINUE
500 CONTINUE

C
C assemble these element matrices to form system eqations:
C
CALL ASSEMBLE( IE, INTMAT, AKE, QE, SYSK, SYSQ,
* MXPOI, MXELE, MXHBW
C

5000 CONTINUE
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RETURN
END

(Node)
2.6 ( 2.30)

(Input file)

PROGRAM  INTERPOLATION

.......... PROGRAM INTERPOLATATION FOR THREE NODES
.......... TRIANGULAR ELEMENT

PARAMETER (MXPQ1=20000, MXELE=20000)
INTEGER NPOIN, NELEM, NVAR

DIMENSION COORD(MXPOI2), INTMAT(MXELE,3)
DIMENSION VOLT(MXPOI), ANSWER(2)



100

10

200

105

REAL X(3), Y(3), N(3)
REAL v(3), A3), B(3), ¢(3)

CHARACTER*20 FILENAME
CHARACTER*50 TEXT

READ NAME OF DATA FILES

WRITE(6,5)

FORMATS, 'ENTER OF DATA FILE FOR INTERPOLATION')
READ(, '(A)', ERR=2) FILENAME

OPEN(UNIT=7, FILE=FILENAME, STATUS='OLD’ ERR=2)

READ NODE-NUMBER, COORDINATES, AND VALUE AT THAT NODE

READ(7,¥) TEXT INPOIN, NELEM, NVAR

READ(7,*) NPOIN, NELEM, NVAR

READ(7,*) TEXT INODAL COORDINATE & SOLUTIONS
DO 10 IP=1,NPOIN

READ(7,*) I, (COORD(I,K), K=1,2), VOLT()

IF(LNE.IP) WRITE!* 100) IP

FORMAT(/'NODE NO.', 18, "DATA FILE IS MISSING')
IF(I.NE.IP) STOP

CONTINUE

READ ELEMENT-NUMBER, NODE-CONNECTON

READ(7,*) TEXT IELEMENT NODAL CONNECTIONS
DO 20 IE=1NELEM

READ(7,*) I, INTMAT(1,J), J=1,3)

IF(I.NE.IE) WRITE!*200) IE

FORMAT!/ELEM NO.1 18, 'DATA FILE IS MISSING)



300

400
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IF(I.NE.IE) STOP
CONTINUE

INPUT COORDINATE OF POINT TO EVALUATE

DO 9000 M=18

DO 5000 L=I,2

WRITE(6,300)

FORMAT(3X, 'ENTER (-/+)xx COORDINATE)
READ(5,%) XX

WRITE 6,400)

FORMAT(3X, 'ENTER (-/4)YY COORDINATE)
READ(5, YY

.INPUT NODE NUMBER OF TRIANGULAR ELEMENT TO INTERPOLATE

DO 30 IE=1,NELEM

..INPUT NODE NUMBER OF FIRST POINT

X(I) = COORD(INTMAT(IE,1),1)
Y(I) = COORD(INTMAT(IE,1),2)
V() = VOLT(INTMAT(IE,1)

..INPUT NODE NUMBER OF SECOND POINT

X(2) = COORD(INTMAT(IE,2),1)
Y(2) = COORD(INTMAT(IE,2).2)
v(2) = VOLT(INTMAT(IE,2)
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.......... INPUT NODE NUMBER OF THIRD POINT

X(3) COORD(INTMAT(IE,3), 1)

Y(3) COORD(INTMAT(IE,3),2)

V3 = VOLTINMVATIES)

AREA = 0.5*%(X(2)*(Y(3)-Y(1)) +

* X(1)*(Y(2)-Y(3)) + X(3)*(Y(1)-Y(2)) )

AREAL = 0.5*(X(2)*Y(3)-X(3)*Y(2) +
* (Y(2)-Y(3))*xx + (X(3)-X(2))*YY )
IF(AREA1.LT.0.) GO TO 30

AREA2 = 0.5*(X(3)*Y(1)-X(1)*Y(3) +
* (Y (3)-Y (I))*xx + (X(1)-X(3))*YY )
IF(AREA2.LT.0.) GO TO 30

AREA3 = 0.5*(X(1)*Y(2)-X(2)*Y(1) +
* (Y(1)-Y(2))*xx + (X(2)-X(1))*YY )

IF(AREA3.LT.0.) GO TO 30

AREAT = AREAl + AREA2 + AREAS3

AREA = 0.5%(X(2)*(Y(3)-Y(1)) +
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i X(L)*(Y(2)-YE) + X@)*(Y(1)-Y(2)) )

A) = X@Q*YER)-XE)*Y(Q)

AQRQ) = XEY(L)-XD)*YE)

AB) = XO*Y(2)-XQ2*Y(1)

B(I) = Y(2)-Y(3)

B2) = Y(3)-Y()

B(3) = Y(I)-Y(2)

Cl) = XQ)-X(Q)

C) = X()-X(Q3)

CB) = X(2)-X(I

DO 3 1=13

N(I) = O

N(I) = (A()+(B()*XX)+(C(1)*YY))/(2*AREA)
3CONTINUE

ANSWER(L) = V/(L)*N(L)+V(2)*N(2)+V(3)*N(3)
WRITE(*14) (INTMAT(IEJ), J=1.3)
14 FORMAT(/, 3X, 'POINTL = 18

*

*

,3X, TOINT2 = 18
/,3X,'POINT3 = 18 )

30 CONTINUE
5000 CONTINUE
DVOLT = 0.

DVOLT = ANSWER(1)-ANSWER(2)
WRITE(*.15) ANSWER(I), ANSWER(2), DVOLT
15 FORMATS, 3X, 'ANSWER1= E146

*

*

[, 3X,'ANSWER2= El14.6
[, 3X,'DVOLT =\E14.6)

9000 CONTINUE

STOP
END



8 , y X (1 -Vx)
X X (Ix- Vx)
9 10 A 12
! y y
1 y
5 y
, al
9( ) 01 0.2 03 04 05 06 0.7
10 1,030 1125 1.278 1.487 1754 2091 2529
20 1.027 1.113 1.259 1.458 1708 2024 2425
30 1.024 1,008 1.229 1.408 1,638 1924 2270
40 1.019 1,080 1.189 1.349 1,549 1789 2078
50 1.014 1,059 1.146 1.277 1.446 1.652 1.884
60 1.000 1,039 1.100 1.200 1.339 1503 1683
70 1.005 1021 1.055 1.125 1229 1349 1.476
80 1.003 1,008 1.020 1.055 1.125 1.193 1.258

v = 20978 juv | 1)



6( )

20

8

S

3]

70
80

Vr = 43956 [jV (

6( )
10

20

5

3]

70

80
vr = 65.934 fiv (

01

1.010

1.009

1.008

1.006

1.005

1.003

1.002

1.001

01

1.006

1.005

1.005

1.004

1.003

1.002

1001

1001

10

0.2
1.042
1.038
1.032
1.026
1.019
1.012
1.006

1.003

0.2
1.025
1.023
1.019
1.015
1011
1.007
1.004

1001

1

0.3

1.098

1.090

1.077

1.060

1.044

1.028

1.014

1.005

0.3

1.059

1.054

1.046

1.036

1.025

1.016

1.008

1.003

alw
04
1.179
1.165
1141
1.113
1.081
1051
1.026

1.009

al
0.4

1.109
1.099
1.084
1.066
1.047
1.029
1.014

1.005

0.5

1201

1.266

1229

1184

1134

1.085

1.043

1.014

0.5

1178

1.162

1.137

1.107

1.076

1.047

1.023

1.007

0.6

1441

1.404

1.348

1.276

1205

1134

1.070

1.022

0.6

1274

1.248

1.210

1.162

1115

1071

1.034

1011

110

0.7
1.644
1.587
1.500
1.397
1.29%
1.198
1.108

1.037

0.7
1.405
1.365
1.305
1234
1.165
1101
1.049

1.015



6 (

20

5

3]

70

80

Vr = 87912 f]V (

6 (

20

5

(<

70

80

01

1.004

1.004

1.003

1.003

1.002

1.001

1.001

1.000

01

1.003

1.003

1.003

1.002

1.002

1001

1001

1.000

vr = 109.890 ruv (

20

0.2
1.018
1.016
1.014
1011
1.008
1.005
1.003

1.001

)

0.2

1.015

1013

1011

1.009

1.006

1.004

1.002

1001

0.3

1043

1.039

1033

1.026

1.018

1.012

1.006

1.002

0.3

1.034

1031

1.026

1.020

1.015

1.009

1.005

1.002

al
04

1.080
1.072
1061
1.048
1.034
1021
1.010

1.003

al
0.4

1.063
1.057
1.048
1.038
1.027
1.016
1.008

1003

05

1131

1118

1.100

1.078

1.054

1.033

1.016

1.005

0.5

1104

1.0%4

1.079

1061

1.043

1.026

1.013

1.004

0.6

1201

1.182

1.153

1117

1.082

1.050

1.024

1.007

0.6

116

1144

1121

1.092

1.065

1.039

1.019

1.006

0.7
1.299
1.268
1222
1.168
1117
10711
1.034

1.010

0.7
1238
1213
1176
1133
1.092
1.055
1.026

1.008



9 (

20

5

(<

70

80

01

1.003

1.003

1.002

1.002

1001

1001

1001

1.000

V1 = 131868 [V (

9 (

20

5

&

70

80

01

1.002

1.002

1.002

1001

1001

1001

1.000

1.000

vr = 153.846 uv (

30

0.2
1.012
1011
1.009
1.007
1.005
1.003
1.002

1001

0.2
101
1.009
1.008
1.006
1.004
1.003
1.002

1001

03

1.028

1.026

1.022

1.017

1012

1.008

1.004

1001

03

1.024

1.022

1.019

1.015

1.010

1.006

1.003

1001

al
04
1.052
1.048
104
1.032
1.022
1.014
1.007

1.002

04
1045
1041
1034
1027
1019
1012
1.006

1.002

05

1.086

1.078

1.066

1051

1.036

1.022

1011

1.003

05

1.074

1.067

1.056

1.044

1.030

1.019

1.009

1.003

0.6

1133

1.120

1101

1.077

1.054

1.032

1015

1.005

0.6

1114

1103

1.086

1.066

1046

1028

1013

1.004

112

0.7
1198
1177
1.146
1m
1.076
1.046
1.022

1.006

0.7
1.169
1.152
1125
1.095
1.065
1.039
1.019

1.005



Vr

6( )

20

5

&

70
80

= 175.824 fuV

6( )

20

5

2}

70

01

1.002

1.002

1.002

1001

1.001

1.001

1.000

1.000

01

0.106

0.202

0.270

0.294

0.300

0.262

0.198

0.105

40

0.2
1.009
1.008
1.007
1.005
1.004
1.002
1.001
1001

1)

(juv)

0.2
0.557
0.979
1.267
1.380
1325
1141
1141

0.438

0.3

1021

1.019

1.016

1013

1.009

1.006

1.003

1.001

0.3

1.788

2.927

3.464

3501

3.222

2.667

1872

0.976

al
04

1.039
1.036
1.030
1.024
1.017
1.010
1.005

1.002

04
5.967
7.201
1.297
6.853
5921
4.717
3271

1683

05

1.065

1.059

1.049

1.038

1027

1.016

1.008

1.003

05

15112

13.917

12.718

11.238

9.351

7.254

4.955

2.529

0.6

1.100

1.090

1075

1.057

1.040

1.024

1012

1.004

0.6

25.046

22.150

19.478

16.459

13,519

10.306

6.917

3.496

113

0.7
1.148
1133
1.110
1.083
1.057
1034
1.016

1.005

0.7
36.147
31.799
27.375
22.725
18.244
13.765

9.164

4.582
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6( )

20

S

3

70

6( )

20

8

S

3

70

80
vr = 5495 v (

01

0.064

0.123

0.163

0.182

0.185

0.162

0.123

0.065

01

1.003

1.005

1.008

1.012

1.017

1021

1.025

1.027

2

fiv)
10

0.2
0.302
0.544
0.725
0.813
0.802
0.707
0.529

0.278

0.2
1.008
1.019
1.035
1.053
1071
1.088
1101

1.110

X

0.3

0.738

1361

1813

1.990

1.940

1679

1222

0.650

0.3

1.019

1.050

1.089

1129

1167

1.200

1223

1239

al
04

1.509
2.754
3531
3.826
3.616
3081
2.219

1170

al
0.4

1051
1115
1.180
1.243
1.298
1.346
1.381

1.406

05

2.825

4.995

6.220

6.489

5.929

4.937

3.493

1823

05

1115

1.208

1.298

1.383

1.456

1518

1.565

1.598

0.6

5.289

8.564

10.206

10.044

9.055

7.353

5107

2.631

0.6

1174

1.308

1430

1535

1634

1714

1771

1811

114

0.7
9.887
14.547
15.950
14.987
12.987
10.247
7.053

3.583

0.7
1.226
1.405
1.562
1.697
1818
1921
1.995

2.042
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6( ) 01
10 1.001
20 1.001
30 1.002
40 1.003
50 1.005
60 1.006
70 1.007
80 1.007

Vr = 10.989 fxV (

10

2)

0.2

1.002

1.005

1.008

1013

1.018

1.023

1.028

1.030

0.3

1.004

1.010

1.020

1031

1043

1.054

1.062

1.068

al
04

1.006
1.019
1.037
1.058
1.078
1.097
1111

1121

0.5

1011

1.032

1.062

1.094

1123

1151

1171

1.186

0.6

1.017

1051

1.09%6

1.139

1.182

1.219

1.246

1.264

115

0.7
1.029
1.080
1.139
1.195

125
1.29%
1.332

1.3%4



alw

2
y- V. Ix-Vl(
4
2
PN
a
50 mm a —> x
X
— 25 i ——
2
alw= 015 6 =25
5
y, Vyjvr * Vijvr 1060
ly-V 11- Vx

(alw,d)
2)

1.015
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ly-Vy
1: I.OO.X 10'864 - 8.07 Xlcr7#3+4.41xI0~5#2-1 721070 +1 710 -1 (.

— =2.13xI0~804- 4.90X 10“6<B+4.46x 10~4"2-1.93x 10-2£ + 4.32x 101 ( .2

(1) (.2 <9=26037 al =0.154
( ) 4148 2,667
1 a | -F 7X- VX
( alW =015 ©=25 )
alw
Ge )y K-Vv  K-Vx
10 0.140 0.279
20 0.148 0.188
30 0.158 0.138
40 0.177 0.111
50 0201 0.093
60 0.241 0.084
70 0.307 0.074
8 0.404 0.072
0.5
!y—yy
0.4 @
# 03 4 ” n
S @
0.2 g "
a
[ ] = 3
0.1 ey JTH
0 4-
0 20 40 60 80 100
G
2 alw G /11-VY, 11-Fv

( alw =0.15 G=2 )
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2 alw =065 6 =65
5 .
y, VylVr ~ VxIVE 1504 1.893
alw ly - vy Ix- VI
2 (alw,6)
( )
ly-Vy
—= 402 10%4- 494 1080 +2.67xKTdo2- 395x 103 +4.25< 10~ ()
Ix-VXx

—=1.75x10°8"4-5.97x10°6*3+8.11x10 462-5.21x10°2"+ 1% (4

(.) (4 (9=65857 a/W =0.666
( ) 132 246
2 alw [ -V 11-Vx
( alw =065 0=65 )
alw
6( ) K-VVv h-vx
10 0.407 -
20 0.420
30 0.445 -
40 0.480 0.831
50 0.530 0.741
60 0.600 0.687
70 0.726 0.656

80 : 0.637
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0.8 4,-V,
[
[
. — e
0.6 o i -V
=)
-n
04 ==
0.2 | T ! 1
0 20 60 80 100
G
alw ly-Vy, ly-Vx
( alw =0.65 9 =65 )



! 10, 20,..., 80

! 100,110...., 170
{y v} y
[0] 10,20,....80
100, 110,..., 170 y
5
. (vivr) > (9)
10, 20,..., 80 y
, alw
6( ) 0.1 0.2 03 0.4 05 0.6 0.7
10 1030 1125 1218 1487 1754 2091  2.529
20 1027 1113 1259 1458 1708 2024 2425
30 1024 1098 1209 1408 1638 1924  2.270
40 1019 1080 1189 1349 1549 1789  2.078
50 1014 1059 1146 1277 1446 1652 1.884
60 1009 1039 1100 1200 1339 1503 1683
70 1005 1021 1055 1125 1229 1349 1476
80 1003 1008 1020 1055 1125 1193 1.258

Vr = 21.978 LiV ( 1)



6( )
170
160
150
140
130
120
110
100
Vr = 21978 nV (

100, 110,170

0.1 0.2

1.030 1.124
1.027 1.113
1.024 1.099
1.019 1.079
1.014 1.060
1.010 1.039
1.006 1.021
1.003 1.008

{ylvr)

03
1.276
1.258
1.229
1.189
1.145
1.100
1.056
1.020

al
0.4

1.486
1.459
1.408
1.349
1.278
1.200
1.126
1.055

0.5
1.752
1.709
1.639
1.547
1.446
1.337
1.229
1.125

0.6
2.090
2.023
1.923
1.789
1.653
1.501
1.349
1.193

121

0.7
2.521
2423
2271
2.081
1.885
1.683
1.476
1.259



( ) ( )
(Calibration curve) 1y - W ( 47), 1 -Vx

4.8) Ix-Vx( 4.9)

( 05 05> NBW-VelD 460
ew
|
, al
6( ) 01 02 03 04 05 06 07

’ 1077 4151 128 1312 1480 2124 3563
2048 2,188 2430 2500 2785 3980 6,658

1084 1098 1262 1419 1515 2202 3742

= 2062 2082 2300 2684 285 4134 7010
. 1073 1100 1251 1383 1522 2330 3881
2000 2088 2368 2632 2870 4408 7278

1065 1080 1247 1437 1592 2407 4183

X 204 2046 2360 2720 3010 4548 7848
1066 1084 125 144 1576 2404 424

0 2000 205 2370 2728 2978 4542 7970
) 1038 1052 1268 1404 1573 2416 4362
1970 1990 2402 2654 2972 4564 8206

. 1067 L0490 1230 1413 1503 2385 443
2028 1984 2344 2672 3012 4506 8346

. 1032 1060 1276 1404 1607 2304 4427

1,958 2,008 2,418 2,654 3,040 4,522 8,336



Stress intensity factor

(Stress
intensity factor)
API-579
J Stress intensity factor
Stress intensity factor (K 1) HAV 2
a 0 ly-V 11-Vx
| o e B 5
0
a/M 15° 30° as° 60° 75°
0.1 | 0.9391 0.7557 0.5046 0.2527 0.0678
2, 0.2 | 0.9577 10,7730 0.5181 0.2605 0.6701
. = 0.3 | 0.9904 0.8025 0.5406 0.2730 0.0736
~ 0.4 | 1.0402 0.8456 0.5719 0.2896 0.0783
! P lo.s | 1.1128  0.9046 0.6119 0.3099 0,083
: 2 0.6 | 1.2183 0.984  0.6611 0.3332 0.089%
0.7 | 1.378  1.091  0.721  0.359  0.0957
; } ‘ 0.8 1.653 1.245 0.79% 0.388 0.102
o
J Stress intensity factor HAV 2 [29]
" FAyfm (1
’ 2wt '



2 Stress intensity factor

Stress intensity factor A B

Stress intensity factor

Stress intensity factor
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API1-579

Stress intensity factor

Handbook

o,
3 [30]
C (I- B)sinacosa ;g9
cos2a + ) +B2In2a
Co 2
B — O,' >62  0<B<l
K\"\/\’} Project flaws onto the
l\ . GFe2s same plane.
\ 12 t‘s_'l 2¢ = total length of
T projection based on
/ . cracks defined by
& = 2¢, and 2c,
2c¢, \ 2
e
1’/ Project flaws onto the
C,+Cy2$ same plane.
\\ —f— ( PR 1
|" 2¢; [, qud 20=2¢, +2¢,+ 5,
/ 4 —r:’ i, GFHE 28,
S, (
\ | \
| 2c, \
|
/ /)
N \—‘/, —_———
4

[30]
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- ER]

alw < 0%

4 Stress intensity factor

alw =0.3 alb =1 a =10
1 ly -V y\llx-Vx
( 1 453) ( )
4.1
6= 14.19 alw- 0.46

2 F, ( 1) (Linear
interpolation) F, 1.08

3 Stress intensity factor

1.08X "(0.46X12.5X109)
2x(12.5x10~3) x (5x 10~3)

~
1

1,165 Pa -yfm

K1

Stress intensity factor

alw=03 alb =1 a =10
1 K,/K0 2 A 1.475 B
115

2 Stress intensity factor A B 2
a = LADdxVex3foxiod

' 2%(12.5x10 )x(5x10 )

1,280 Pa-4m

B K 1.15 X~7TX3.75x 1073

’ 2x(12.5x 10 3) x (5x 10~3)

K. 999 Pa -4m
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6 Stress intensity factor
API 579
al =03 alb =1 a =10
1 3
: sl +1--b)sina ¢sa , p.Ain 2

c = 3.958
(417 2
API 579
4
2
b =375 . C=3.958
(Overlap) A4
2c = 3.958+ (3.75x2)+ 3.958
2c = 15.416
3 Stress intensity factor A4
_ 1 1 7.708xl0'3" 7.708xIQ~3;r

' = 5x10“3Y 4 x(12.5X10"3)2sec 2 X(12.5X10~3)

K, 1,654 Pa-yjm
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